Learn.

The Fish
God made many kinds of fish.
He made them on day five.
Fish live down in the water.
God made the fish to live in the water.
They can sw}'m in the water.

Fish swim in the lakes.

They swim in the rivers and oceans, too.
We like to see them swim in the water.
Fish eat food in the water.

See them eat in the water.

See the fish swim in the water.

|7 sipervisor initioi

Pat is the big pup. | The pip is in the can.

The pUp is a pét.

Can the pup pop the top?

Yeés! The pUp ran!

=3

Fill in the bldnks.

]
R T Ll

-

A/

Theplpisa_ht%2 1 .

-

Thepupisinthe

Did the pUp ron?
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Froggie ddds 6n a number line,

01 2 34 5 6 7 8 91011 121314 15 1617 18

P
L

?\B 9 10 1112 13 14 15 16 17 18

7

Froggie starts at 0.
He hops to 3.

He hops 4 more hops.
Froggie stops on 7.

rit- the ndmber Fréggié stdps on,

01 2 3 4 56?8‘!]01112131415]6]?1-87

Twda D
. W

O 1 2 34 5 6 7 89 10111213 14 15 16 17 18

4 + 2 =

18
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Read Chopler 3 of Summer. Fus with Ase ond Chvisti Draw a line from each number to its box of hundreds, tens, and ones.

An important part of every =
story is the “characters.” The The main character is aka I %
characters are the people in the most important ity (CEOTEOom
the story. person in the story. 2 | 2 i [
I i
1 II :
1 : e
Aher you read Chapter 3, answer these gquestions in complete sentences. "
4
(1) Who is the main character in the story? T
335 i 7=
i I 5 5 o 0 i
Where and when the story tokes place is T
called the “setting” of the story. i gt
S I |+7 T At s
“plot” is what huppans i b
in_the story. :

(2) Where does the story take place?

Subtract the ones, then the tens, then the hundreds. Take away.

700 868 958 900 759
(3) What does Pudge do in the story? - 500 48 - 802 - 200 423
Read and fill in the blanks,
» b . 268 800 736 589 400
=:| 87 - 100 - 282 =134 - |00
prosper. e = T oy o Ty
Proverbs 28:13
E““ poges 19 omd 0. [ | o yor s || St ———j tarom [ || oo [ _— =
20

CGEENNTNNED (GRS

Birds Have Beaks
bills or beaks to break open | Sometimes we put two words 0
together with an apostrophe.

the outside of the seeds.
Some fowls eat other

animals. These birds need very

strong bills or beaks because

Match the words that mean the same.

they eat other animals for Pre nat=. e e ssiiii isnt‘ do not hasn *,
oad. is not Tt aren't | does not doesn't
- Some birds that live in very was not didn't | has not don't
The ahape of o birds Beuk did not wasn't | have not haven't

warm places eat fruit. These

or bill helps the bird eat its
food. Some birds eat seeds.

birds that eat fruit need big
bills. Birds that eat fruit have

Write the words that mean the same.

1]
Seeds have a hard, outside special fongues to help them Ry i e N :"‘:1'
coat. Birds that eat seeds need eat their meals. are not ‘i | aren: _ A A, -
Drﬂw a line under the best answer. is not m—— fari’s
(1) The (hair, shape, seed) of o bird's beck helps him eat food.
. was not wasn't
(2) Birds that eat (seeds, beads, deeds) need beaks to break them open.
did not o didn't
(3) Birds need (weak, song, strong) bills to eat other animals. .
do not _ don't S —
(4) Birds that eat (hord, fruit, coats) need big bills. )
does not ___ doesn't
(5) Birds that eot fruit have special (tongues, feet, arms).
has not __ hasn't
Read and fill in the blanks.

have not haven't

(6’ Glor e g ctoce e . Jo N e hoth ngmen

than ... a mon lay down h i s O L
John 15:13

for his

(ten) 10
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C. The Sahara Is in Africa.
“This encyclopedia says that much
of Africa is desert,” said Booker.
“The Sahara is the largest desert
in the world. The Sahara is in the
northern part of Africa.”

e ]
. >

“We sometimes think it never
rains in the desert,” said Pastor
Gentle. “However, rain falls in the
Sahara. Sometimes the Sahara has
heavy rains, but the water quickly
goes down into the ground.

“There are people who live in the
desert and who do not need to
move around from place to place to
find water,” continued Pastor Gentle.
“These people live around an oasis.
An oasis is like an island of green

Fill in the blanks with the right answers.

e

12) The Sahara is in the

N ——

in the desert. An island is land
surrounded by water. We say an
oasis is like an island because it is
green land surrounded by desert.
An oasis is o place where water
comes out of the ground. An oasis
is green because it has underground

streams of water. Because of the
underground water, the soil is very
rich in an oasis and grows beautiful
plants.

“It's hundreds and hundreds of
miles, or kilometers, across the dry
Sahara. However, men have crossed
the huge Sahara by traveling from
one oasis to another to get water.
Remember that the Schara in Africa
is the largest desert in the world.”

is the largest desert in the world.

part of Africa.

is like an island of green in the desert.

(4) An oasis is green because it has underground streams of

30

Equitable

Students. we must always be Yes, Do you like

equitcble with each other. The

Yes, Backy?

Bible teaches us to treat others
as wo wont to be trealed.

t"«'f.

It is equitoble nat ’O

ta push others,

Does that mean
not ta push?

1] Selomon was the wisest man that ever lived

(5]

The people were amozed at his wisdom

| Did they bring their problems to him

(4] Yes, the people brought their problems to Sclomon

! Did thay trust Solomon’s judgment

They surely did. and they listened when he spoke

'] Why did they trust Solomon's judgment

8] The people knew Solomon loved God

They knew he waos seeking to follow God

10/ Can you imagine a visit to Solomon’s poloce —

Score poges
27,28, 29, and 30.

Correct mistakes.

Maths PACE 1039

216 means “6 divided by 2 Nx2=5%
Think: What number times 2 equals 67 53; :di?rid:ds o
2%
Divide by 1 or 2. Write the correct answer in the boxes.
m
) N %2 = |2 IE
2T12 Elx 2 =12 s 2Ti2
£
2 Nx| =28 I:l
|T§‘ DX | = 8, so |]?
(&3]
3 N x2 =18 [
2118 [(Jx2 =185 STTE
14)
2 N x| =6 ]:]
1Te DX | = &, so 1Te
15
" N x2=10 D
2TT0 [(Jx2 =10 s 55T
(L))
- N % 2 = % D
2174 [Jx2=1m% ST
2 N ¥ | =9 D
1T [ x1 =95 T

Of course not all characters
in a story are good. Some
stories have a person who
causes ftrouble.

Someone who fights a good
hero and tries to defeat
him is the hero’s enemy.

In the next chapter of
Christians Cowrageous, you
will learn about another
Christian hero and his
enemies.

Circle “yes” or “no.

(1) A story has an y. yes no
(2) An enemy fights against the hero. yes no
[3) The enemy always wins the fight. yes no
[4) An enemy causes trouble. yes no
[5) Jedediah Smith was a famous enemy. yes no
Read and fill in the blanks.

(6)

from them to it is

when it is in the of thine

to do it Proverbs 3:27

Score poges 22 and 23 Carrect mistokes Rescore

23
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From the word box, choose the correct wordls) to complete the sentence or name the figure. Then
write the word|s) in the crossword puzzle on the next page.

“Volcanologists have studied volcances in
order to learn more obout the earth. They
have learned some things about volcances.
However, in their studies, they hove found
that no two volcanoes are exactly alike.

“There are, however, three main types of
volcanoes. There are active volconoes,

Active voleanoes are those which ore
erupting right now. Extinct volcances are
thought of as those which hove not been
active for 1,000 years or more. Dormant
volcanoes are those which are only sleeping
but may erupt: however, they are not
erupting right now.”

ACROSS
1. A _? _figure takes up space and hos depth. area
4. An ongle thot forms a square corner is a _?_ angle, cone
6. A parallelogrom with four right angles and four congruent sides isa _7 | cubic
7. A _17_is o polygon with three sides. [ eylinder
9. An octagon with congruent sides has _?_ lines of symmetry. eight
11. A cylinder hos _?_ foces. o
12. To see how much wire would be needed to moke o fence around the chicken im?:::ﬁ"g
pen, we would measure the _2
i
14. A cube has _?_foces. =
oclogen
17. To see if Sport's doghouse hos more square feet than Wag's doghouse, we
would measure the _7 . parallel lines
18. Volume is measured in _?_ units, parallelogram
21. A _2 figure is the same shape but not the same size as another figure peologon
22. A polygon with four sides isa _7 porimeler
DOWN pyromid
1. 12.¢—> quadriloteral
>
13 ——4————» o)
A A
24— right
15.
) - e
Si%
16.
'@ 3
sphere
8 19.
| A G
X friangle
‘R @ s

25
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extinct velcances, and dormant volconoes.

] /Dulmah
RS

'

Three kinds of volcanoes

i, Katmai

Scientists once colled Katmai in Alaska
an extinet voleano. However, on June 6,
1912, in Aloske some stronge things began
happening. In a small villoge obout 100 of the world the sun does not set for 24
miles, or 160 kilometers, away from Katmai, hours during that certain time of the year.
a gray cloud hung in the sky during the The villogers were expecting daylight
middle of the day. About two hours loter. o around the clock, but instead there was
dark cloud seemed to come down and cover dorkness by 5:00 p.m."

the little village in Aloska. By 5:00 in the
afternoon, the sun could not be seen of all.
That was really strange because in that part

Fill in the blanks with the right answars

(1) Veicanologists have learned that no two velcances are

(2 volcanoes are those which are erupting right now.

(3) volcanoes are those which have not been octive tor 1,000
years or more.

(4) volcanoes are those which are sleeping but may erupt.

2] (twenty-one)

Read the word and its definition; then underline the sentence which best uses the word.

telegraph tela graf

{9) Telegraph is a way of sending coded messages over
wires by means of electrical impulses.
(a) In1877 Perthand Adelaid bl h

messages by way of telegraph.

(b) Bill draw a line on the telegraph.

lil. UNITED AUSTRALIA: A CHANGE OF THINKING

A dramatic change of thinking occurred by
the |ast decade of the nineteenth century. For
most of the 1800s little interast was shown in
the idea of a united Australia. The colonies
were far more concerned with devaloping their
own settlements and retaining power over
their own affairs. By the end of the century this
thinking had changed. Many people falt that
the federation of the colonies would be good.
Earlier barriers to unity seemed to be
disappearing.

The colonies were separated by great
distances but new developments made it easier
for people to travel across the continent.
Railway lines were being constructed and the
cities were being linked. Many old problems

e =
A railway pier, Melbourne, 1880

still faced the construction of a national railway.
The colonies could not agree on a common
gauge (the distance between the rails).
Passengers were forced to change trains at
the border towns such as Albury on the New
South Wales/Victorian border. Progress was
being made despite these hurdies.

In 1883 Sydney and Melbourne became
the first cities to be linked by rail. In 1887
Adelaide was linked to Melbourne. In 1888
Brisbane was linked to Sydney. Perth had
been linked to the other cities by telegraph line
since 1877. The people of Sydney had been
able to communicate with the people of
Melbourne by way of telephone since 1884,
- —

The telegraph line hes T: ia in 1869

Thus communications had improved. The
colonies knew of each other's affairs much
more quickly now than had been the case
before. Workers moved more freely between
the colonies. Cattlemen, sheep-shearers,
miners and other workers travelled from colony
to colony. Unions and other organizations
within the colonies often held conferences
around the country. They discussed the
conditions of workers in Australia as a whole.

Sporting teams included members from all
the colonies. Their success on the field was
seen as a victory for Australia and made all
Australians proud. The spiritof Australianness

18

Literature book
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Indefinite Pronouns

... or an indefinite pronoun can come
before a noun and do the job of an
adjective.

An indefinite pronoun can do
the jobof a noun, . . .

Each prayed. Each student proyed
Both answere Both boys answere

Learn these indefinite pronouns.

ol och more nothing something

another either most one Now I see why “no one”
any everybody  much others must be spelled as
anybody  everyone neither several two words.

anyone ‘overything  nobody  some
anything  few none somebody
bath many no ane someone

Underline the indefinite pronoun in each sentence. On the line write “pronoun” it it works
olone in ploce of a noun; write “adjective” if it works os an adjective.

Study these examples.
Both believed that Ged would answer.

God did answer each girl's prayer.

paonous.

Qur Friendliness Aids in the Conversion of Others (Acts 8:5-8; 26-40)

(1) In the early church, the Apostles could not do everything.

(2) The Apostles chose several men 1o help them.

(3) One of these chosen men was Philip.

(4) During this early time of the church, everyone stayed in Jerusalem.

(5) Then great persecutions came against the church, and
many Christians left Jarusalem.

(&) One Christian who left was Philip.

(7) Philip went to Samaria and preached Christ to everyone.
(8) All of the people received Philip's message.

(9) Many miracles were done by Philip, also.

(thirty-four) 34

D. Climate

Because of its great land area, Waslem Austra-
lia has several climates, Over half of Western
Australia lies south of the Tropic of Capricom in the
temperate zone. The northemn part lies in the tropi-
cal zone. This northern part has hot, wet summers
and warm, dry winters. The southern half of West-
ern Australia has warm, dry summers, with cool,
wat winters, However large areas of the Inland
recaive very light and irregular rainfall.

| wenitem mamrnas
{Morterste =
ey

| — Terpean

WISTER RAINFALL
]
~Tenimrte

1. Temperature

Temperatures can vary greatly in Western Aus-
tralia, The average annual temperature in the north
is around 29°C, while in the south it |s 15.5°C.
However, lemperatures tend 1o vary greatly ac-
cording to season and location. The inland area
varies from extremely hot conditions during sum-
mer with temperatures exceeding 40°C in the
shade, to chilly winter nights when ice lorms on
exposed water surfaces.

The holtest region in Western Australia is near
Marble Bar in the north-west where the daily maxi-
mum exceeds 38°C for weeks at a time, This area
has recorded the longest heat waves. Marble Bar is
the only station in the world where temperatures of
more than 37.8'C have been recorded on as many
as 161 days in a row. The Kimberley district is the
consistently hottest part of Australia. The highest

v ever in Wi A li
was 50.7°C at Eucla on the south coast in 1906,
Ewvan though Eucla is located in the extrame south
of the state, the hot north-west winds which blow
over land from the Marble Bar area have caused
these high temperatures. The highest temperature
ever recorded in Perth was 45.8°C on January 31,
1891,

The coolest region in Western Australia is inthe

23

south-west corner, where most of the population
lives. The summer months average 24'C to 26.5'C
and the winter manths 10°C to 15°C. The lowest
temperature ever recorded in Weslern Australia
was -6.7°C at Booyigoo.

2. Rainfall

Raintall also varies greatly according to season
and location. Winter rains fall in the south mostly
from May to October. The summer rains of the north
fall from November to April. The enormous interior
region receives very little rain. This dry region
stretches from Kalgooriie to Shark Bay to Broome
and to Hall's Creek. The area from Port Hedland to
the Hammersley Range may receive two tropical
cyclones in a year. These cyclones usually occur
between December and May. The average rainfall
for this area is 250 mm to 380 mm. However, these
figures mean very little because 250 mm may fall in

i o iosomem RAINFALL

two days and there may be a drought lasting up to
two years,

Seventy-three percent of Western Australia
receives less than 300 mm of rain annually. Only
nine percent receives more than 600 mm. Those
areas that do receive more than 600 mm annually

Maths PACE 1086
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Correct mistakes.

Let's ibi

these two p d

The same procedures are followed: the numbers are moved to one side of the equation ond
the unknown terms to the other side of the equation.

4x = B = 20 — 3x¢——————Move like terms to the same side of the equation.
Rredesdible—— o ilikedenms

Tx =28

-

o The preblem con be checked by putting the value of x into the original equation in place of
the x.

bx — 8 = 20 = 3x€«——Substitute & for x.

“:‘: ¥; : = 2 iy ?T"‘““-—-Simplily both sides of the equotion.
8=8 Both sides are equal so & is a correct answer.

Solve and check the following equations. Reduce all fractions to simplest terms.
6x+ 10 = 37 - 3x
6x+ 3x=37-10

9x = 27

6(3) + 10 = 37 = 3(3)
18+10=37-9

2 28 = 28
x=35 3

"

(32) 3x+ 14 =38-5x

The String Family

When the Bible mentions stringed
instruments, it is referring to a family of
instruments rather then to a specific
instrument. Although there were many
i kinds of stringed i in Bible
times. we will look at just four: the harp, the
asor, the dulcimer, and the psaltery.

Horps were used for both worship and
entertainment. Genesis 4:21 records that
Jubal ployed haorps. Scripture colls Jubal the
“father of all such os hondle the harp ond
organ.”

David, probably the most well-known
harpist, used his musical ability to glorify the
Lord. He often ployed his harp on the grassy

| Judean hillsides while
caring for his father's
sheep. David's five-
string harp resembled
an  Egyption  skin
bottle. The body of
the harp was rounded
out and covered with
: “ animal skin.
An osor was an instrument like the harp.
Becouse the word asor in Hebrew means
“ten,” the asor was probably o harplike
instrument with ten strings. The Bible
mentions @ ten-stringed instrument in

Psalm 33:2 and Psalm 92:3. Some pecple
think the asor was like today's zither, but
most music historians believe it was more
like a ten-stringed harp.

In Daniel 3:5 the dulcimer is mentioned
os one of the instruments in King

e ek A dulei Tsd
shallow, closed box upon which are stretched
wires that a ployer strikes with small,
wooden hammers. Most music histerians
believe dulcimers are the forerunners of the
modern piano.

The psaltery waos another instrument in King
Nebuchodnezzar's orchestra. Many of the
Psalms also moke mention of this stringed
instrument. Although o psaltery looked much
like the dul . this. wos plucked
with the fingers rather than struck. The
psaltery was used only for worship.




do not change easily—generally very little
mixing of air occurs between two air masses.

“Air masses are wusually moving. The
movement of an air mass, in oddition 1o its
temperature and humidity, determines the kind
of front that forms on its leading edge. When a
moving cold oir mass meets a weaker warm
air mass, o cold front is formed. Cold air
massas mave of a speed of about 20 miles per
hour (32 km/h), which is faster thon the
mavement of warm air mosses. Becouse cold
fronts move faster than warm fronts, they
cause sharper, more rapid changes in weather,
Rain, usually in the form of brief but viclent
thunderstorms, occurs on both sides of the
front. Cold air is more dense than warm air

Australian History PACE 8

clouds become thicker and lower until the rain
orrives. This precipitation is usually followed
by warmer weather.”

——

ond tends to sink, creating high p and
bringing o period of cooler, sunny weather as
it moves into a region.”

895mi
(1,440 km)

Omi

{0km)
Caold fron
"When a moving warm air mass meeis a
weoker cold air mass, a warm front forms. The
warm air is forced upword ond over the cold
oir moss, producing heavy bul not viclent
precipitotion. Waorm front rains are steody,
covering large areas and sometimes exiending
hundreds of miles ohead of the front. A worm
front is p ded by much cloudi Some-
fimes high wispy clouds precede the front for a
thousand miles (1,600 km). Grodually, the

13 (thirteen)

(1,440 km)
Warm front
"Sometimes cold and warm air masses are
equal in strength, preventing either mass from
moving for several days. These masses form o
front that does not move, called o ‘stationary
front.' A statienary front generally produces
the some kind of weather os o warm front.”

warm, moist air

Stationary front
“Approoching cold and warm fronts con be
predicted by a drop in atmospheric pressure
because both move from high-pressure oreas

During the early depression years, labour (the
workers) and capital (the owners) fought it out
on a national scale. In 1889, the Queensland
Shearers’ Union demanded that pastoralists
employ union members only. When the
pastoralists refused and brought in non-union
('scab’} labour, the waterside workears refused to
load the wool from the Jondaryan station. The
pastoralists were forced to give in.

Committee and gas stokers refused to work with
coal cut by non-union labour,

Alfred Deakin, the chief secretary of Victoria,
called out the local defence force to clear union
pickets at the port of Melbourne. In Sydney,
armed police, sent by the government of Henry
Parkes, cleared a path for wool-carts through a
hostile crowd on Circular Quay, When missiles
were thrown, the Riot Act was read and the
crowd was dispersed by force. In Queensland,
Premier Samuel Griffith also called out

The wmry of the Ck.leansland Shearers' Union

the defence force and read the Riot Act
Pastoralists used the opportunity to go back
on their earlier with the

while union leaders were arrested, charged
with illegal plotting (conspiracy) and sentenced
1o long terms in gaol.

By the end of 1890, the great Marilime
Strike had been broken. In the depression
of the 1890s, the employers had the upper
hand. Further attempts at industrial action by
shearers and mine workers ended in disaster,
By 1886, scarcely one in twenty wage-earners
belonged to a union. The conflict between the
union demand for a ‘closed shop' (that Is, the

encouraged _the A Shearers' Unian,
which ed the h lani Tha
ists and were d ined to

resmt the union demands however, and formed
their own unions of employers. The showdown
came in August 1890 when ship

ploy of only those who belonged to a
union), and the employers’ insistence on their
right to employ wh they liked (‘freed
of contract’), had ended with a decisive victory
for the latter.

told the recently formed Marine Officers’
Association that, be'!ure its wage ::Iaims
could be di 1, its \ i

must cut their ties (affiliation) with the
Melbourne Trades Hall Council (a trade
union organisation). The marine officers
walked off their ships, the waterside
workers refused to load them, coalminers
were locked out when they refused to
supply coal to the ships, and pastoralists
broke off their negofiations with the
shearers.

The Maritime Strike spread further. Mine
owners at Broken Hill locked out their
workers, transport workers were brought
out on strike by the Labour Defence

The Maritime Strike. Emmmmmnymmwum

wool o Circutar Quay in Sydney. Sydney Mail, 27 Seplember 1890,

Look agoin of page 28, and ¢

(1) An outline is a step-by-step

(2] Before we attempt to write a composition,
and write from it.

9 -

—to organize the ideas about a topic.

we should pile an

(3] The title of the example outline is ~

e is centered above the outline,
(5) The example cutlim

[T e —— ~ (how many?) main topics.

Has '_i_ (haw many?) subtopics.

Has .___ == T___(how many?) points,

() Each Roman numeral, capital letter, or

L

is followed by a

(mark of punctuation).

(7] The subtopics are indented under

(8) The points are

(13) Place o check (s before the statement that gives the meaning of | Peter 3:8.

__ Our church deacons put o new roof on

a widow's house.

— Qur pastor is never late for an appointment.

Corract mistol

Score pages 1
37, 28, ond 29 |

hes [ Rescore. |

2

Using the root “pulse,” “pel,” or “peal” and the ings and functions of prefixes and suffixes,
write the correct word on each line. (If you need holp refer to your d[cncmnry]
pulse repulse pulsate expel propel |
compel impul propell impul propul

(1) to drive or push forward

{2) to couse something to beot

(3) the oct of pushing forward

(4] to push out

(5) o sudden driving force that
comes on someons

(11) What does the root “pulse,” “pel,” or “peal” mean?

pulse
(Latin-pellere)

“to drive; to push;

o hw’“

(6) to push back or drive back

{7) tending to push or drive inta

9) to push or drive with force

(10) something thot pushes or
drives another thing forward




source could be generated. A continuous
fission reaction is called a chain reaction.

Chain reoction

There was also aonother motivation to
discover @ means of continuous nuclear
fission. The world was involved in o devastat-
ing world war, Scientists in Germony and
the United States knew thot o weapon of
inconceivable magnitude could be created
using nuclear fission. Both sides also knew
that the country that first developed a nuclear
weopon would win the war. The United States
detonated the first I fission bomb on
July 16, 1945, in the desert near Alomogordo
(al’a-me-gérd’c), New Mexico. This Ffirst
nuclear bomb had as much explosive force as
20,000 tons of TNT.

Detonation of nucleer fission bamb
The only two nuclear bombs used during

English PACE 1131

Although nuclear fission was first used os o
weapon, it is also an efficient source of
energy to power eleciric generating plants.
One kilogram of uranium fuel may produce
as much electric power as 3,000,000 kg of
coal or 12,000,000 kg of oil used in a
conventional power plant,

A nuclear reactor is a device that allows
nuclear fission to proceed at a controlled
rate. Reactors today still function much like
the first nuclear “pile” in Chicago. The four
majer ports of o nuclear fission reactor are
the core, the moderator, the control rods, and
the pressure vessel.

The reactor core contains the uranium fuel
needed for fission. Before uranium con
be used as fuel, it must be enriched.
Uranium-235, which is necessary for fission
in a nuclear reactor, always occurs in small
quantities mixed with uronium-238. Enrichment
is the p that the
of U-235. Pellets of enriched uranium are
placed in steel rods called fuel rods. As many
os 300 fuel rods are bound together to form
o fuel assembly. Fuel assemblies are held in
place by support plates in the core.

A moderater is a substance that slows
down N itted at normal
speeds travel too fost to bombard other
U-235 nuclei. A moderator, such os grophite,
carbon dioxide, or water, slows down the
neutrons and increases the chance that
they will bombard other U-235 nuclei and

i the fission ion. Water is used
as a moderotor in most nuclear fission
reactors since it olso octs as a coolant
and as a heat exchanger.

Control rods are necessary to regulate the
rote of the fission reaction. Rods or plotes of
either cadmium or boron placed between fuel
assemblies obsorb the emitted neutrons and
prevent them from cousing other nuclei to
split. If the rods are raised, neutrons are

World War II were dropped on Hiroshi
and Nogasaki, two industrial cities in Japan.
Less than two weeks later, the war was over.

| d and the i pr ds. The
!lighor the rods are raised, the foster the
reaction proceeds.

A list of main points reloted to starting a school using School of Tomorrow curriculum is given below.
A logical arrangement of the main points is necessary if the research paper is to have coherence.

NOTE HOW THE RANDOM ARRANGEMENT OF MAIN POINTS ON THE LEFT BELOW HAS BEEN
PLACED IN LOGICAL ORDER ON THE RIGHT. A ROMAN NUMERAL HAS BEEN PLACED BE-
FORE EACH MAIN POINT.

Organizing the leadership
Preparing to obtain a staff
Adopting a facility

1. Organizing the leadership
IL. Promoting the school
1IL. Financing the school

Financing the schoal
Finolizing for opening day
Promoting the school

IV. Adapting a focility
V. Preparing to obtain o staif
VI, Finalizing for cpening day

A guestion may arise osking why organizotion of the main points listed above must
follow the arrangement given. A reasonable explanation would be that initially no
institution can begin without [lddamhip Before public interest can be generoted,

| i must be rel d fo the public. There must be reasonoble planning
for financing In order for o facility 1o be odopted and meintained. Having loid the proper
groundwork, a staff could be sought and troined, ond all could then work toward opening
day.

Before we develop the main points above with
supporting points, we will proctice arranging
main points in logical order.

On the lines below, arrange Iiu iepk: in logical sequence. On lln first line, write the

statement that would be ppropriate title for the paper.
Learning obedience

Receiving Christ inte your heart i

Getting o quality education 1L

Being faithful te church IIL

Associating with believers Iv.

Choosing o lifework V.

Morrying o believer of like faith VI

Preparing for life VIL

Rescore.

‘ 11 and 12, E” Corroct mistakes.
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Algebra PACE 1104 Senior Modern History PACE 20
Negative Exponents
were hung for crimes against British law, there is no
i W for killi
OBJECTIVE :ngz;in‘:‘el.aat a European was ever hung for killing
To eliminate negative from algebrai i

The reciprocal {or multiplicative imverse) of a number is the number that, when multiplied by

another number, equals 1.

The reciprocal of 4 is . bocause 4+

The reciprocal of x is '; becatise 1= '? =1,

The reciprocal of a numlu;r I(
can be found by simply &I
inventing the nuniber. b ]

. 2. % 2.3
The reciprocal of 5 is 3, because 3 o35 =
A negative can be changed 1o a positi p by it
e L.
X
-3 3
W= o
E il with negative must be chunged to equivalent expressions with positive
l\cl’urt they can be simpiified. Stody the following examples carefully.
3y L
27y (2 )-M.[_L,=l_'._L= 2. v P
3 y) = F &f Yo 3 s nd
3

58

| % GOVERNOR DAVEY'S L
| PROCLAMATION

| T0 THE ABORIGINES
| 1816,

Giovernor George Arthur

It was left to another Christian, George Augustus
Robdnson lu achieve the seemingly impossible.
R it i have branded him a traitor
who tricked the Aborigines into surrendering, but it
is more likely that he had a genuine interest in their
welfare. Certainly, his ideas, which included racial
equality, justice and Abonginal land rights, were well
ahead of their time. Robinson, who was on friendly
terms with the Tasmanian Aborigines and spoke
their language fluently, believed that they could be
to give up if they beli
Ihal it was in their own best interests.

His plan was surpris-
ingly successful, and by
1834, most of the surviv-
ing Aborigines had been
sent, not to a place where
they could happily pursue
their tradit lifestyle,
as they thought, but to
the desolate Flinders Is-
tand off the island's north- 8
An 1830 committee of investigation into the treat-  east coast. Although they
ment of the Abarigines found evidence that Aborigi-  were generally well treat- oo dugustnr Robinson,
nes wera being shot on sight and sub]ecmd tohor- ed. “They simply pined  Lihagraph by £ Gauci
rific cruelties. Arthur, theref dthe idea away, disillusioned, pow- NLA no. 1991536

Thix poaner wiar circudaned by Thomas b Tam * Devey; wha wan
Liemtercm-Governor af Van Dieman ¥ fanf between 1813 and 1517,
A version of the poter i ales attribied fo Governar Gearge Artlur

NLA no, TRTEGTS

of the ‘Black Line'. Over two thousand men were to
form a cordon and drive the remaining Aborigines
in the areas of European settlement on to a narrow
peninsula, where they could be captured and sent
to a safe location, As it turned out, the operation
was an expensive failure.

erless, longing for a past

that was gone forever™." A number of Church of
England catechists and a Presbyterian minister at-
tempted to minister to the Aborigines, but only one,
Robert Clark, appears to have won their genuine
affection. Clark’s concentration on Christian teach-
ing seems to have made him unpopular with the
Iater Flinders Island officials, but at least he stayed
with them for life.




Senior Maths PACE 13b

2, The distri of uses a belt to pack tomatoes
into boxes. The vegetables are placed In a silo so that they are loaded
on to the yor, and then move with a speed of 5 m/s.

Aliheendcfﬂmemrwymthavegelﬂ:lesdmpnhabou The process is
shown in the figure below.

Ry

The function to calculate the vertical velocity of a vegetable when it drops
into the box is given by:

v =, sin{f) — 8.8t
The function to calculate the height is given by:
h=12+v, cos(f) t - 49F
where v, -~ inifial velocity, i.e. velocity at the drop off is 5 m/s at angle ¢
I = time
(a) Tabulate the velocity for 0 < t < 1.10 for & time step of 0.10 5.

- 12m —e

(b

Tabulate the height, for 0 < t < 1.10 for a time step of 0.10 5.

{c) Piot the data from part (a) and (b) on the same graph and interpolate,
i.e. connect the points. Use time vs vertical velocity and time vs height
above the box.

Senior Maths Unit SM13: Tigenometric Graphs. 61

Economics PACE 1140

On the left is an elastic supply
curve. In this case, quantity
increases tupidly as price increnses
showly. The units offered for sale
increase from 100 10 600 as the
v | price increases from $20 o $200.

1 Price
I How are marker prices acuunlly
o w0 m wn %o me s s  determined!  Producens  offer
Ouanty products for sale when they
anticipate demand, and consumers
can purchase goods only if there is o supply, Supply and demand become significant
when they are combined 1o determine the market prices of goods and services.
Let's go back o our example of lemonade and incorporte the supply and demand
schedules into one charr.

Prica
ousapiusEayl
oy

Supply and demand schedules for glasses
af for one week
plus (+) or| Pressure
Supply Price {-)| on price

900 $4.50 100 +800 1

800 4,00 200 +600 i

700 3.50 300 +400 1

800 3.00 400 +200 1

500 2,50 500 0

400 2.00 600 200

300 1.50 700 =400

200 1.00 800 -600 Equilibrium is the

100 0.50 800 -800 T point at which supply

and demand ave equal.
At prices above $2.50, mare glusses of lemonade are available for sale than IR :mml'ﬂ
consumers are willing to purchase at the asking price. This sinmtion pressures prices some factor upsets
w decrease. Ar prices below $2.50, more consumens are willing to purchase this balance j
lemonade than there sre glases available. In this situntion, prices are pressured to
increase. Only ar $2.50 do the glasses of lemonade equal the number of consumen
who wish to purchase lemonade. When supply and demand equal each other, the
market is at equilibrium, and the price ar thar point is the equilibrium price.
W M n&fﬁnﬁ-
natural,

,aw ,Mmmm Ao swee
: ' ' m Adam Siish, Wealh of Nations

Life of Christ PACE 140

| filament than the plate, o small grid vollage
has more effect on the electron flow than a
much larger plate velioge. Therefore, o small
voltage change applied to the input of o triode
will result in @ much larger voltage change at
the output. This effect is known o5
omplitication.

The output voltage of a friode circuit is
commonly 50 fimes larger than the input
voltage. If more amplification is needed, the
b output of the first ftriode circuit con be
connected to o second triede circuit. If both
triodes provide an amplification of 50, then the
averall amplitication will be 50 X 50 = 2500,
We can begin to see the importance of Lee De

A triode Forest's invention. A rodio signol, which hos a

In a ftricde, electrons emitted from the very tiny voltoge; con be received by an
heated filament poss through holes in the grid antenna and then amplified enough to drive a
before they reach the plate. If voltage is loudspeaker.
applied to make the grid negative with respect
to the filament, seme elecirons will be Semiconductor Devices
repelled bock to the fil thus reducing A luctor is a suk e intermed
the flow of electrons to the plote. As the in ductivity bet a good insulator and a
negative charge of the grid is increased, the good conducior, Semiconductors conduct elec-
current passing fo the plate is decreased. This tricity better than true insulators like sulfur,
decrecse in current couses an increase in but semiconductors do not conduct eleciricity
voltoge. Since the grid is closer to the as well as true conductors like copper.

glass envelope

plate

control grid
cathode (filament)

heater

'y
|

filament filament

TRIODE WITH POSITIVE GRID
OUTPUT CURRENT EXCEEDS INPUT CURRENT

TRIODE WITH NEGATIVE GRID
MO CURRENT FLOWS

Triode diogrom
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Il. TEACHING IN PARABLES CONTINUED

In this section, our study of Jesus' teaching in with "The Pharisee ond the
Publican" (Luke 18:9-14) and "The Laborers in the V'neyur\d" (Mutlhew l9:2?-20 18).

The Pharisee and the Publican

Read Luke 18:9-14:

Jesus continued His attack upon self-righteousness. He did not like it in the Pharisees who
exhibited so much of it in His doy, and He does not like it in us. His attack agoin took the form of a
story.

Two rmen went up to the temple to pray. One waos a
Pharisee, the other a tax—collector (o publican). The
Pharisee did not ask for anything. Instead, he appeared to
give thanks. He thanked God for what a fine fellow he (the
Pharisee) was. The Pharisee listed his virtues in two ways,
First, he told what he did not do. Second, he told what he
did do. He neither extorted money, supperted injustice,
lived immorally, nor acted like a publicon. He did fast
twice a week, and he did give a tithe of everything that he
received. What more could God ask?

The publican came before God on an entirely
different basis. He really had nothing o boast about--and
he felt that foct keenly! He prayed (18:13): " .. God be
merciful to me o sinner.” Instinctively he struck his chest
as he prayed, showing the depth of his own emotion. Jesus closed the story by saying (18:14): 1 tell
you, this man went down to his house justified rather than the other ... ." Jlesus gave a familiar reason
for this judgment (18:18): ". . . for every one that exalteth himself sholl be obased; and he that
humbleth himself shall be exalted.”

Why then did God justify the tax-collector and ignore the virtues of the Pharisee? The publican
had a sense of need. He was penitent. The Phorisee was not. God, Who looks beyond our outward octs
and manners, sees us all as rebels ogainst His law and Himself; therefore, God looks not for self-esteem
and self- it, but for The idea of repentance was foreign to the Pharisee because he
could not see how any fault could be found with his life; but the publican, in his own eyes, hod no virtues
to commend him to God. Whot else could he do except repent and cry for mercy? He obased himself
before God. That heartfelt self-obasement was precious in God's eyes.

©On the blank, write the correct answer:

{

} In the parable of "The Pharisee and the Publican,” Jesus continued His attock upon

(2)  The Pharisee listed his virtues in the form of {a)

and (1) =
(3)  The Pharisee did

twice a week,




